Ps

2-3|
Yen) =3 Y-y —4y(h-2) = xn) +2xn-1)

Sce  the particular solution Yp=0 when the excitabion s animpalse
we have whe impulse vespomse A=l cn) for n20.
By assuming y, ry=N\", we Obtain Lhe charpcteristic equation as follos,
N-3N-4 =0 T/tcre]twt, A=, 4 and yh(n): C (-t *Cl(q.)n )
Since whe system must be n:laxe([, We fave Y=H=0 ond Y(-2) =0
Thus for n=0,1, XOU=§cm), we fuve
YA) =3Y0)=2 .3 Y =5 &

By wing Eg5. 0 @ and ® we hure
{C(+Cl=l = { C|='J

4CL‘C| =5 L= -é"

Therefoe  heny = Ceane % ()" Jucn).
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S(ny 4+ wsch=1) + ==t anStn-n) = by vih)

&> s(n) = -0 SCh-1)-A8Ch-2) — -~ — AN SC n-AN) tbo¥(h)

|
&) viny = 5 ( Soytacsen- + -+ gy S(n-n))

S

— V(N)

v ) ) — V)
= i

o
V(i) v (n)
= /lowzmu(m' ’

Fia. 1
C) ‘ |
The system can be a[e:m bec[ a8 vin)= /un)x VN ) | this is an :bé/ct«fyéyxreﬁj

ﬂuW/fM the l'm/)u.[_(e 7‘8-5/10)2.(8 IS /LUU =<(C)t)
Note:. thus rrocea(urc con be illustrated in Fig | !
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@y 2Y4cn) +Yn=-0 ~4ym-3) = 7ccn)+5;cm—5)
Yoy = -FYr-n+2yn-3) +3 XOY+EACn-5)

Yn)

N-lon

xen) -xn-l ) t2 x(n=2) -3 X(n-4)
ycn),

by Y=
AN




-

Yo —0-§ Yurd) = 203X

149y =esy ) L3200 F2AC)

@ xaw 1420 . | (1)
[z* ﬂ B
e 0-3

{ YINn) = yxgutaxm=1) = hd
Yoo = vout 0 Ju-t

=2 §00 34000

" Jn=gou | Yt Y
-2 0 0 0
- 0 0 0

0 1 0 '

i 0 l 0-§

2 0 oy | (08)

a 0 0sr | @5

o ey <05 )" W)
R gyeratc 1 = hoon) x haen) =30 O o) + 2 0" wn)

x ()= —15 Xn=1) +0-5 Yn) =04 Yn-t)
05 X))

)
L :
A

(b




2.52
Q)  hi(n)y= CoStn)+C, §en-1) +¢y §(n-2)

hatry= by §(nyth, §UH) + bodtn-2)
hscny = Qo)+ (At Qolo) S () + Al § (N2)

b
= In (m’(er 10 ensure hoen =h.(n) | we yeeol to assign

bz = Co
{ by = C ondthis s ensily to be vea lized.

b0=C:.

In oveler to enswre hotn) = hatny, we nee.a/ to 4sSign

&.0:@0
[ al'('aoaazc‘
alal = Cz

Tha&f‘)"‘ﬂ {arfCoaL =\

a\al = CL

We can further g&t foazz- Claz +CL:0,
Thus l"f (o#0, ”T’ arwlanig»‘«j— A=C~4CC 70 | It can e sa{fs/-a[_
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